Single Axis Robot

Single Axis Robot
KK Series

1.1 Features

() Anintegrated system

() Easy installation and maintenance

() Compact and lightweight

(O High accuracy

O High stiffness

(O Complete selection of accessories for
most applications.

Caption: FEM Analysis

The KK Single Axis Robot features a slider actuated by a motor-driven ballscrew and guided by a linear guideway
with a U-shape rail. The slider acts as the ballscrew’s nut and the guideway’s block.

I Taiwan Patent No. 183022
China Patent No. 481446
USA Patent No. 6584868
Germany Patent No. 20117489.8

A-62



Single Axis Robot

1.2 Model Number of KK Series

Example: KK6010P-400A1-F1CS0O

KK 60 10 P E
|

KK Stage

Nominal Width:
40, 50, 60, 86,
100, 130

Ballscrew Lead:—
KK 40:1

KK 50: 2

KK 60:5, 10

KK 86: 10, 20

KK 100: 20

KK 130: 25

Accuracy Grade:
P: Precision, C: Normal

E: Ballscrew Special Order —
None: Normal Type

400

Rail Length (unit: mm)
KK40: 100, 150, 200
KK50: 150, 200, 250, 300

KK60 : 150, 200, 300, 400, 500, 600
KK86 : 340, 440, 540, 640, 740, 940
KK 100 : 980, 1080, 1180, 1280, 1380

KK130: 980, 1180, 1380, 1680
E: Rail Special Order

E

None: Normal Type

FO

C

A-63

SO

Limit Switch:

S0: Switch Rail Only

S1: Omron SX671

S2: Omron SX674

S$3: SUNX GL-12F

S4: SUNX GL-N12F-P

None: No Limit Switch and Rail

C: Aluminum Cover
B: Bellows
None: Normal Type

Motor Adaptor Flange
ref. catalog (P.6~P.9)

E: Block Special Order
None: Normal Type

Number of Blocks: 1 or 2

Block Type:
A: Normal
S: Short



Single Axis Robot

1.3 Maximum Speed Limit

Ballscrew Lead Rail Length Speed [(mm/sec]
Model (mm) (mm]) Precision Normal
100 190 190
KK40 01 150 190 190
200 190 190
150 270 270
200 270 270
KK50 02
250 270 270
300 270 270
150 550 390
200 550 390
300 550 390
05
400 550 390
500 550 390
600 340 340
KK60
150 1100 790
200 1100 790
300 1100 790
10
400 1100 790
500 1100 790
600 670 670
340 740 520
440 740 520
540 740 520
10
640 740 520
740 740 520
940 610 430
KK86
340 1480 1050
440 1480 1050
540 1480 1050
20
640 1480 1050
740 1480 1050
940 1220 870
980 1120 800
1080 980 800
KK100 20 1180 750 750
1280 510 630
1380 440 530
980 1120 800
1180 1120 800
KK130 25
1380 830 800
1680 550 550

A-64



Single Axis Robot

1.4 Specifications

Model No.
Precision
KK40
Normal
Precision
KK50
Normal
Precision
KKé60
Normal
Precision
KK60
Normal
Precision
KK86
Normal
Precision
KK86
Normal
Precision
KK100
Normal
Precision
KK130
Normal

Nominal

(mm)

20

25

Diameter (mm)

M
Sy S B e S i S
/ o\
l ‘Tl’l" Lrl*r‘ |
Ballscrew Guideway
Basic Basic Static Rated Moment
. . Dynamic Static
Lead Basic Basic Allowable Static Allowable Static Allowable Static
- o P Load Load
tat = = -
ynamic Static Rating Rating Moment M, (N-m) Moment M, (N-m) Moment Mg(N-m)
Load Load (N) (N) (pitching) (yawing) (rolling)
(N) (N)
Block Block Block Block Block Block Block Block Block Block Block Block Block Block Block Block
A S A S A A2 ST S2 A1 A2 1 S2 A1 A2 S1 S22
735 1538
1 3920 - 6468 - 33 182 - - 33 182 - - 81 162 - -
676 1284
2136 3489
2 8007 = 12916 - 16 278 = = 116 278 = = 222 444 = -
1813 2910
3744 6243
5 13230 7173 21462 11574 152 348 72 205 152 348 72 205 419 838 241 482
3377 5625
2410 3743
10 13230 7173 21462 11574 152 348 72 205 152 348 72 205 419 838 241 482
2107 3234
7144 12642
10 31458 21051 50764 29475 622 3050 166 1309 622 3050 166 1309 1507 3014 847 1694
6429 11387
4645 7655
20 31458 21051 50764 29475 622 3050 166 1309 622 3050 166 1309 1507 3014 847 1694
4175 6889
7046 12544
20 39200 - 63406 - 960 4763 - - 960 4763 - - 2205 4410 - -
4782 9163
7897 15931
25 48101 - 84829 1536 7350 = = 1536 7350 - = 3885 7770 - =
7092 14352

A-65



Single Axis Robot

1.5 Accuracy Grade

Unit: mm
Rail Repeatability Accuracy Running Parallelism Starting Torque(N-cm)
Model
Length Precision Normal Precision Normal Precision Normal Precision Normal
100
KK40 150 + 0.003 + 0.01 0.020 - 0.010 - 1.2 0.8
200
150
200
KK50 + 0.003 + 0.01 0.020 - 0.010 - 4 2
250
300
150
200
+ 0.003 + 0.01 0.020 - 0.010 - 15 7
300
KK60
400
500
+ 0.003 + 0.01 0.025 - 0.015 - 15 7
600
340
440
+ 0.003 + 0.01 0.025 - 0.015 - 15 10
540
KK86
640
740 + 0.003 + 0.01 0.030 - 0.020 - 17 10
940 + 0.003 + 0.01 0.040 - 0.030 - 25 10
980
+ 0.005 + 0.01 0.035 - 0.025 - 17 12
1080
KK100 1180 + 0.005 + 0.01 0.040 - 0.03 - 20 12
1280 0.045 0.035 23
+ 0.005 + 0.01 = = 15
1380 0.05 0.04 25
980 0.035 0.025 25 15
1180 + 0.005 + 0.01 - -
KK130 0.04 0.03 25 15
1380
1680 + 0.007 + 0.012 0.05 - 0.04 - 27 18

A-66



Single Axis Robot

1.6.1 Motor and Motor Adaptor Flange

Motor

AC

Servo Motor

Stepping
Motor

HIWIN

Panasonic

MHI

Yaskawa

Nemal7
Nema23
Nema34

HIWIN

VEXTA

Nemal7
Nema23
Nema34

Model

FBAC102(200W)
FBAC104(400W)
MSM3AZ(30W)
MSM5AZ(50W)
MSMO1(100W)
MSM02(200W)
MSM04(400W)
MSMO08(750W)
HC-PQ033(30W)
HC-PQO053(50W)
HC-PQ13(100W)
HC-KFS053(50W)
HC-KFS13(100W)
HC-KFS23(200W)
HC-KFS43(400W)
HC-MF73(750W)
SGMAH-A3(30W)
SGMAH-A5(50W)
SGMAH-01(100W)
SGMPH-01(100W)
SGMAH-02(200W)
SGMAH-04(400W)
SGMPH-02(200W)
SGMPH-04(400W)
SGMAH-08(750W)

FRST40-21
FRST55-21
FRST55-25
FRST55-23
PK24
PK26
PK29
PK54
PK56
PK59

KK40

F2

F1

F1

F3

F3
F3
F3
F3
F3

F3

A-67

KK50

F2

F1

F1

F1

F3
(F-E2)

F3
F3
F3
F3
F3
(F-E2)

F3
(F-ET)

F3
(F-E2)

KK60

F2

F1

F1

F1

F5
F4

F5
F5
F5
F5
F5
F4

F5

F5
F4

KK86

FO

F3

F1

F4

F2

F2

FO

F2

FO

F6

F6

F5

F6

KK100

FO

F2

FO

F1

FO

F1

F4

F4

F3

F4

KK130

F1

F4

F1

F2

F1

FO

F2

F3



Single Axis Robot

1.6.2 Motor housing and Motor adaptor Flange

KK40

Motor housing FO

4-M3x0.5Px8.5DP PCD45

&

m%%

i@

Goo

PCD45_ 4-M3x0.5Px8DP

By

4-@3.5Thru,
26x3.5DP

4 7
4-M3x0.5P Thru

=

Motor adaptor Flange F2
49 49 85
ﬁ‘ 14_525 PCD29  4-M3x0.5Px6DP TLZ
e F ;
Hi==S e {E e
¢ S R 35 — | e
cEN -4—= *lo‘l eﬂ\é( ;4@3:/ & ‘
Motor adaptor Flange F1 Motor adaptor Flange F3
49 85 4-M4x0.7Px8.5DP ,PCD46 49 Tios
W Tw g a4\, i i
=, [REA S @% ’ = g N M
T TR 28| ] 118 A
: g B /¥ —
KK50
Motor housing FO Motor adaptor Flange F2
14 g‘(‘) PCD33 4-M3x0.5Px6DP 60 85
65 p
T s % T H
¢ - Y e 1 s
—] | 1| %A g ! %q} —t e
-, e@gw — e
Motor adaptor Flange F1 Motor adaptor Flange F3
60 8.5 PCD46  4-M4x0.7Px8DP

140

‘ 32 60 7
Hi f + Hi ]
A= ﬁéf\J /\ 1 N
———— I 1
= o L
_

| Lowse | |

\4

A-68

222'3%)
40
31

4-23.5Thru,
D6x3.5DP

4-M3x0.5P Thru



Single Axis Robot

KK60

Motor housing FO

59

18.5 30.5
15.5
9

PCD40  4-M4x0.7Px8DP

@6h7

44.5

228700 |

23

Motor adaptor Flange F 1

59

4-M3x.5Px8DP

4-M4x0.7Px10DP

PCD46

—{ }37

©26.5
2309%
042

Motor adaptor Flange F2

59

4-M3x0.5Px10DP

PCD45,

—1 }],

42

KK86

Motor housing FO

87

23 50
28

I3

)

28h7

46

@5019%°

23, 50

4-M4x0.7Px8DP 85

Motor adaptor Flange F3

59

10,

3

4-M5x0.8Px10DP

}],

_—

226.5
236730
0 60

Motor adaptor Flange F4

59

10

397

-

226.5
238.11388
057.7

47 .14

59

4-M4x0.7Px10DP
‘ 47.14 ‘ /
© A
<

4-@3.4Thru,
D 6x4DP

3;],

+0.05
[

31

222

Motor adaptor Flange F4

87

_m_l

@46
@5073%

62

==

Motor adaptor Flange F2

87

23 50

—

43

23

4-M3x0.5PThru

v

246
270'5%
Oso

4-M4x0.7Px8DP

85

T -H

HD
:

‘*0 0!
@46

62

87
23 50
28 85
18]
r C
:ﬂ — so ¢ 8 _
334 ! § Q| &
| [ k)

ss |

Motor adaptor Flange F5

PCD90
4-M5x0.8Px10DP

87
23 - 85
50
18]

@46
(162

T
2136'3%

63

]

63

47.14

31

7
&

4-M4x0.7Px8DP j



Single Axis Robot

KK100

Motor housing FO

94
27 45
32 99
4-M5x0.8Px10 DP
22 ~ P.C.D.70 75 P
=
o~
T RS \3
3
=4 | Se o
b 2 = .
— 1 gy
Motor adaptor Flange F1
o4 -2 4-M6x1Px12 DP
3.5 P.C.D.90 - 80
-
U] L - \5\
I g
N 747\7 | FF o 1
] s e - @
= L1 S mr | w .
i i Y,
Motor adaptor Flange F2
94 2
35 4-M5x0.8Px12 DP
- P.C.D.90 80
il - 5
o T S TS
] gl %3 o
} =T S R N T ol f
— i s at KRl e/
L s 8

KK130

Motor housing FO

100
35_ 35 3.5
29 ~
16 5
] Q
| e
L H—1 1Rl
0 | S

Motor adaptor Fla

100

4-M5x0.8Px12DP

8-Mé6x1Px12DP

nge F1

Motor adaptor Flange F2

100

4-06.5x15DP

A-70

Motor adaptor Flange F3

%

12

2.5

e
I g2
1T S o
\ ‘j{g
T

Motor adaptor Flange F4

4-M6x1Px12 DP

72

- 82
94 12
25 4-M6x1Px12DP ‘ 69.58
‘
Tl i | ” =%
H REmEE ‘
| ©
o = N ot
= pl—— | 2 ﬁt L
L 8 e ~e—"o
Motor adaptor Flange F3
100 4-Méx1Px12DP 128
35 69.58 _
U = So o ‘[
— 1 eE o
i e
,,,,, § m—l

Motor adaptor Flange F4

100

2 4-M5x0.8Px12DP

3.5

@60
270:5%

69.58




Single Axis Robot

1.7.1 Bellows

[T

Nominal Width

KK40

KK50

KK60

KK86

KK100

KK130

Rail Length Stroke

100
150
200
150
200
250
300
150
200
300
400
500
600
340
440
540
640
740
940
980
1080
1180
1280
1380
980
1180
1380
1680

35
63
93
60
95
130
160
56
106
166
234
306
366
188
260
336
408
480
640
769
855
945
1029
1115
748
916
1084
1346

Min.

16
27
37
21.5
29
36.5
46.5
16
20
40
56
70
90
36
50
62
76
90
110
58
65
70
78
85
62
78
94
113

A-71

t S
i S o
N

51
90 60
130
81.5
124
166.5
206.5
80
126
206
290
376
456
224
310
398
484
570
750
827
920
1015 150
1107
1200
810
994
1178
1459

62

84

110

180

29.5

37

45.5

61

73

89

e e e

24

32

41

53

Unit : mm

33

47

54

75

95

108



Single Axis Robot

1.7.2 Switch . ;
© ‘ 4.2 ‘
Switch rail . - =

Switch
Nominal Width a b C d e
KK40 415 54.1 0.5 10.8 15.3
KK50 45.5 59 1 10 15
KK60 51 63.8 4 14.5
KK86 63.5 76.7 8 18
KK100 71 84 10 20
KK130 85.5 98.5 14 24 0.5

Switch 1 : Omron EE-SX671

Nominal Width a b C d e

KK40 36.5 44.3 1 9.8 10.5
KK50 41.3 48 1 10.5 10.2
KKé60 46.2 52.8 4 14 3.2
KK86 59 65.7 8 18 3

KK100 66 73 10 20 4.2
KK130 80.8 87.5 14 23.5 =41

Switch 2 : Omron EE-SX674

Nominal Width g h i j
KK40 40 5.5 13.5 5.5
KK50 39.5 5.7 7 19.5
KK60 44.5 9 2 9
KK86 57 13 1 13
KK100 64.5 15 2.5 15
KK130 79 19 -6 19

Switch 3, 4 : SUNX GL-12F, GL-N12F-P

A-72



Single Axis Robot

The three main components of the KK Single Axis Robot are the guideway, ballscrew, and bearing. The
calculation formulas of their life are shown as follows:

1.8.1 Guideway

fi C

L=(% )

3 L : Life Rating (km)
X 50 km  f : Contact Coefficient (ref. Table 1)
fw : Loading Coefficient (ref. Table 2)

C : Basic Dynamic Load Rating (N)
P, : Calculated Loading (N)

Table 1

Block type Contact Coefficient f;

A1, S1 1.0

A2,S2 0.81
Table 2

Operating Condition Loading

Thrust and Vibration Velocity (v) Coefficient fu
No Thrust V? 15m/min 1.0~15
Low Vibration 15m/min? V? 60m/min 1.5~2.0
High Vibration V? 60m/min 2.0~35

1.8.2 Ballscrew and Bearing

1 C,
Lz(fT'Pa,n)

Replenishing the grease every 100km

. L : Life Rating (rev.)
X 10°rev .| vading Coefficient (ref. Table 2) P, : Axial Loading (N)

C, : Basic Dynamic Load Rating (N)

1 Block

\ \
__ gy

§ [eleTo | [
N \
Grease nipple
2 Blocks Grease nipple
| | \

_ d Tl
§ [el+Te 5+ D

Grease nipple

A-73



Single Axis Robot

1.10.1 Without cover

KK40

4-M3x0.5Px4.5 DP 58 2xn-@3.4THRU,@6.5x3 DP
33
2x2-M3x0.5Px6 DP 2.5 2x2-M2.6x0.45Px4 DP 20 5
T 1 I 17
s ) d lele] 0@ | -
g B = === g i} == @ .
e ’191 @ elple| @ Ole -
18 _| 11 fi / i
N
40 2-M2.6x0.45Px4.5 DP, 10x1.2 DP 6
SECTION A-A 5 L2 5
]
49
12 25
4-M3x0.5Px6 DP 14.5
PCD 29 A9 8
T
a/ \{g/\‘éo ILI J,, .
Sy L _ 2 i
3 d‘ @& s = 21 i i g VIEW B
AN s — T o e
} i LA §
VIEW B 3 60 G 8
(n-1)x60
RailLength Total Length Maximum Stroke (mm) Mass (kg)
L2 (mm] L1 (mm) G (mm :
mm A1 Block A2 Block A1 Block A2 Block
100 159 36 - 20 2 0.48 -
150 209 86 34 15 8 0.6 0.67
200 259 136 84 40 3 0.72 0.79
KK50 4-M4x0.7Px6.5 DP -5 THRU. O DP
2x2-M2.6x0.45Px4 DP P xn-@4.5 THRU,28x
2x2-M3x0.5Px 8 DP 30
35
25 [ /l 7
7@ 7;\7 T @ //// ] 3L A4 iL (] @ [:ﬁ A4 ]
| — = ~<
e, AR e
g“rr hda G% Ntﬁj‘_ % @ 0" g > pid o I @ o —
25 _f12.5 i/
50 N 2-M3x0.5Px4 DP, 15x1.3 DP 5.7
K G
SECTION A-A 5 ) 5
L1
60
14 34
4-M3x0.5Px6 DP 16.5
PCD 33 \ 10 10]
> TT A |
e \m 3 aﬁﬂwrl@i&m rrT i I Y X
3 e p— =0 55— viEws
ol i | [
? T/ a5 ] B e
—A 80 G 8
(n-1)x80
Rail Length Total Length Maximum Stroke (mm) G(mml  K(mm) Mass (kg]
L2 (mm] L1 (mm) mm R
A1 Block A2 Block A1 Block A2 Block
150 220 70 - Bb) 80 2 1 -
200 270 120 55 20 160 3 1.2 1.4
250 320 170 105 45 160 3 1.4 1.6
300 370 220 155 30 240 4 1.6 1.8

A-74



Single Axis Robot

KK60 (Standard)

82 4-M5x0.8Px8 DP
2xm-M2.6x0.45Px4 DP 51 2xn-@5.5 THRU,@9.5x4.7 DP
2x2-M3x0.5Px8 DP 30
42 I
N © | o e f& il e -
ﬁlfff*f*f*ﬁ%*fmﬁ*f*f —— Nt **E
ERR e © 1 OY ezl P& 0+ .
= |
60 ° 2-M2.6x0.45Px3 DP/|_.__[15x1.5 DP . 6
B} | K
SECTION A-A I
7 L2 7
L1
59
18.5 _30.5
4-M3x0.5Px8 DP 155
PCD 40 11 =5
U A U e
T I e —— p— L = - — (L 1se viEwB
3 i T M Q|
~ ° 1 ° ; ° = g
i e R e =
m‘ LA §
P 100 G
(n-1)x100
VIEW B ]
Rail Length Total Length Maximum Stroke (mm) Mass (kg)
o) ( ] G (mm) K(mm) n m
L2 L1 (mm A1Block A2 Block A1Block A2 Block
150 220 60 - 25 100 2 2 1.5 -
200 270 110 - 50 100 2 2 1.8 -
300 370 210 135 50 200 3 2 2.4 2.7
400 470 310 235 50 100 4 4 3 3.3
500 570 410 335 50 200 5 3 3.6 3.9
600 670 510 435 50 100 6 6 4.2 4.6
KK60 (Light Duty)
59 2-M5x0.8Px8 DP
2xm-M2.6x0.45Px4 DP 28 2xn-@5.5 THRU,@9.5x4.7 DP
2x2-M3x0.5Px8 DP 4
42 i
30 \ v m|
| BN © D d [ ] € K *
~0
o = ﬁl*f*f*f*f/f*f**ﬂ*f*f*fﬁ%* -l
©) S ™) 1 i F~—o =
S N I o / © YpplPe | ]
30 |15 4/
50 2-M2.6x0.45Px3 DP 10x1.5 DP 5
SECTION A-A .
(m-1)xK
7 2 7
L1
59
18.5 _30.5
4-M3x0.5Px8 DP " 5.5
PCD 40 1L [
I : I
v ) %ﬁ T3 _views
ey B B e B — =L = —_— i s F-— [ 0| —=———
~ ° 1 ° | ° = )
f R/ A——" ‘ 17 R I
~O|
Ln{ —A Q
p 100 G
(n-1)x100
VIEW B
Rail Length Total Length Maximum Stroke (mm) Mass (kg)
o) 10 ] G (mm) K(mm) n m
L2 mm S1Block  S2Block S1Block  S2Block
150 220 85 34 25 100 2 2 1.4 1.6
200 270 135 84 50 100 2 2 1.7 1.9
300 370 235 184 50 200 3 2 23 25
400 470 335 284 50 100 4 4 2.9 3.1
500 570 435 384 50 200 5 3 3.5 3.7
600 670 535 484 50 100 6 6 41 43

A-75



Single Axis Robot

KK86 (Standard)

116

75
2xm-M2.6x0.45Px4 DP 6 4-M6x1Px12 DP
2%2-M4x0.7Px10 DP 2-M2.6x0.45Px4 DP 15x2 DP 2xn-@6.6 THRU,@11xé DP
60 J L
.~ v T 1%
46 o | T Te [ & _@/ dl 1
- g‘g ;w; @] 2 **"f*f*#*fi***f***jf*ﬁ%_vf T8
(e iesR @& 1 dlolle]l o i |
46 20 hd Ik <+
| 86 L‘T.q 65 || 7.5
< 200 H
SECTION A-A (m-1)x200 6.5
87
23 _ 50
4-M5x0.8Px10 DP 28 35
PCD 70 13 18]
- )
)a/f/\\)‘s \"O)O ° m A q-_mJ - 7‘ ]
g reanianra 11| == ET
- o M + ! ha L | Q
) o it 1 ——— i
} ] " — =
4-M4x0.7Px8 DP 100 70 =
PCD 60 (n-1)x100
VIEW B L2
L1
Rail Length Total Length Maximum Stroke (mm) Mass (kg)
o) 1 ) H(mm) n m
L2 mm A1 Block A2 Block A1 Block A2 Block
340 440 210 100 70 & 2 5.7 6.5
440 540 310 200 20 4 3 6.9 7.7
540 640 410 300 70 b 3 8.0 8.8
640 740 510 400 20 6 4 9.2 10.0
740 840 610 500 70 7 4 10.4 11.2
940 1040 810 700 70 9 5 11.6 12.4
KK86 (Light Duty)
84
2xm-M2.6x0.45Px4 DP 15x2 DP 43 2-Méx1Px12 DP
2x2-M4x0.7Px10 DP 2-M2.6x0.45Px4 DP 21.9 2xn-@6.6 THRU,&11x6 DP
60 J L
—1% [ ¥ "l
‘ — ‘ @{I{' e e :@/ i I
e ——= -+t
o WS ~ | [ ®
< . o~ I X ] _
:t':/rT h o g ™ @” @E .| @ 4 i
46 (20| T It a2
86 P 65 || 7.5
200 H
SECTION A-A (m-1)x200 6.5
87
23 _ 50
4-M5x0.8Px10 DP 28 35
13 18
v A v = 1l 8
Qo f————————9F +4L7,7f[{ J=E=samr s
5 | | Ted
C" * ] r'r' * ] ‘ 5y * I — Q
? T l_»A g
4-M£x0.7Px8 DP 100 70 S
PCD 60 (n-1)xT00
L2
VIEW B X
Rail Length Total Length Maximum Stroke (mm) Mass (kg]
L2 (mm] L1 (mm) H(mm) n m
mm S1 Block S2 Block S1 Block S2 Block
340 440 246 170 70 3 2 5.4 5.9
440 540 346 270 20 4 3 6.6 74
540 640 446 370 70 5 3 7.7 8.2
640 740 546 470 20 [ 4 8.9 9.4
740 840 646 570 70 7 4 101 10.6
940 1040 846 770 70 9 5 11.3 11.8

A-76

VIEW B

VIEW B



Single Axis Robot

142.6
KK100 9%
‘ 50
2xm-M2.6x0.45Px4 DP 20x1.5 DP Mmmu s b
70 2x2-M&x0.7Px10 DP 4-M3x0.5Px6 DP 8 X0 RLXE.
50 5T if v 7/ _T.0
‘ ‘ [©) @ d[ o8¢ @ 1° -
I | _IT _ | _ _ A
8 O T ® =2 = % e
N b VL@ | e 5 Rk © s
50 |25 28 i a4y
100 3 7.5 8
200 H 7.5
SECTION A-A
(m-1)x200
94
27 45
4-M5x0.8Px10 DP »
PCD 70 15 75
\ g
Ty = oy u A ] -
S & of | il — -f wmgbﬂ—ﬂ — i VIEW B
Nl o N il .
Ll Tl il — — AN N N S
} ‘ } L—A =
VIEW B 150 G sl g
(n-1)x150 Q
L2
L1
Rail Length Total Length Maximum Stroke (mm]) Mass (kg]
) 1 ] G (mm) H(mm) n m
L2 mm A1Block  A2Block Al1Block A2 Block
980 1089 828 700 40 90 7 5 18.6 20.3
1080 1189 928 800 15 40 8 6 20.3 22.0
1180 1289 1028 900 65 90 8 6 22.0 23.7
1280 1389 1128 1000 40 40 9 7 23.6 25.3
1380 1489 1228 1100 15 90 10 7 25.3 27.0
KK130 157
108
2xm-M2.6x0.45Px4 DP 4-M3x0.5Px6 DP ST 4-M10x1.5Px20 DP
o2 Mx0.7Px10 DP : 8 2xn-@11 THRU,@17.5x10.5 DP
95 —
70 c T v T 7 T, 1
// o) o ) & | _
PN : S
10 m o| _ _ H _ _ @7 | | R v | ‘ o
e ﬁ'\ N %77 o = 1F = | ; =
[Tel NSRS
: 70 : ;30 8 // e [le | ]
130 ) — i =1
o 12
SECTION A-A 200 H 9
(m-1)x200
100
8-Méx1Px12 DP 35_ 35 3.5
PCD 90 29
121 18 16
= 2 A
»\° [ I _
= = y i i I I i 2
I~ g{ \ I~ i "JJ_T ™ g — — ‘ ol g2/ VIEWB
© T < - = = A = = t Y o -—
ol 2 | = S| S S 198 5
1] e 1 o g N T e e
R Vi f ! —A S
150 G =
VIEWB (n-1)x150 S
L2
L1
Rail Length Total Length Maximum Stroke (mm) Mass (kg)
2 (mmj L1 ( ) G (mm) H(mm) n m
L mm A1 Block A2 Block A1 Block A2 Block
980 1098 811 659 40 90 7 5 29.4 32.3
1180 1298 1011 859 65 90 8 [ 34.3 37.2
1380 1498 121 1059 90 90 9 7 39.2 421
1680 1798 1511 1359 90 40 1" 9 46.5 49.4

A-77



Single Axis Robot

1.10.2 With cover

KK40

58 4-M4x0.7Px14 DP
22 M3X0.5PAL DP gg 2xn-@3.4 THRU,26.5x3 DP
?.é ' 6 2x2-M2.6x0.45Px4 DP
SECTION A-A L2
L1
49
25
4-M3x0.5Px6 DP T4.5
PCD 29 A 8
IPES }\@ ool —
8m‘L § 8. ¢% — i .- i‘? VIEW B
o o 2 I N
«LB’ZK";V" o) %/ 9y 7, — aR S U e
f m‘ - 3
VIEWB i 60 G 8
(n-1)x60
Rail Length  Total Length Maximum Stroke (mm) G (mm) . Mass (kg)
L2 (mm] L1 (mm) A1 Block A2 Block A1 Block A2 Block
100 159 36 - 20 2 0.55 -
150 209 86 34 15 3 0.68 0.76
200 259 136 84 40 3 0.82 0.89
62 Zl'l. 4-Mé4x0.7Px10 DP
% ‘ .,,.‘ 2x2-M2.6x0.45Px4 DP 30 2xn-@4.5 THRU,@8x4 DP
~O|
G i !
2 11 — j;i\*.
Q 7:“)'?_0 3
T 1T F.‘_ -
25 _[125]
50 S
SECTION A-A 2x2-M3x0.5Px4 DP 8
K G
L
K]
60
% 34
4-M3x0.5Px6 DP 63
10 10]
PCD 33 | 10 "—.A
=il g e ] T
b , / 1 ; 1 o — ~ 2
& $@ SOl s . T 4 | O 1% -VIEWB
tle oo-7d ¢ & 00— T 7 O —
J ] = m
S VIEW B S 80 G 8
(n-1)x80
Rail Length Total Length Maximum Stroke (mm) 6(mml K(mml n Mass (kg)
L2(mm] L1 (mm) A1 Block A2 Block A1 Block A2 Block
150 220 70 - 35 80 2 1.1 -
200 270 120 55 20 160 3 1.3 1.5
250 320 170 105 45 160 3 1.6 1.8
300 370 220 155 30 240 4 1.8 2.0

A-78



Single Axis Robot

KK60 (Standard)

82
2x2-M2.6x0.45Px6 DP 3 4-M5x0.8Px8 DP
8 2xm-M2.6x0.45Px4 DP ‘8‘ 2xn-@5.5 THRU,©9.5%4.7 DP
- YA - o ¢ &
U@J@F
@ <
~ X A_Q \4‘/ & r $
N T\t‘ig _
30
60
SECTION A-A otk
L2
L1
59
4-M3x0.5Px8 DP 183 153g'5
PCD 40 " A =%
= \j’; ] Ll m )
0 L o /L Il a0 (15 _views
:f'm.‘ o ol T T . T . \ . | B[ 18
o o | —
& Q\‘ /?;&@ ﬁ(‘,’ L L L L H =
el
an4x0.7sz P\ g‘ A G S
PCD40  \\rwB (n-1)x100
Rail Length Total Length Maximum Stroke (mm) Mass (kg)
ol L1 (mm) G (mm) K(mm) n m
L2 mm A1 Block A2 Block A1 Block A2 Block
150 220 60 - 25 100 2 2 1.7 -
200 270 110 - 50 100 2 2 2.1 -
300 370 210 135 50 200 8 2 2.7 3.0
400 470 310 235 50 100 4 4 &3 3.6
500 570 410 B35 50 200 5 83 3.9 4.2
600 670 510 435 50 100 6 [ 4.6 5.0
KK60 (Light Duty)
59 2-M5x0.8Px8 DP
28
86 14
7 2xm-M2.6x0.45Px4 DP .= 2xn-@5.5 THRU,@9.5x4.7 DP
) 64 -
%
IL
¥ —
® |-
g —o-F ?%‘ R e
N R -
30 15| / ESE R
60 l L2 | 6
SECTION AA 2-M2.6x0.45Px6 DP/_|8
| K G
(m-1)xK
L2
]
59
18.5_30.5
4-M3x0.5Px8 DP
PCD 40 Iy A 159,5
: 7, L
o . 4 ﬁ 1L views
~ B2 I e — —_— - 1= i o
< ° " ° 1 © — g
B 17 L ‘ B B A
f 4 [y 8
4-M£x0.7Px8 DP a 100 G
PCD 40 (n-1]x100
VIEW B
Rail Length Total Length Maximum Stroke (mm) Mass (kg)
(e L1 (mm) G(mm) K(mm) n m
L2 mm S1Block  S2Block S1Block  S2Block
150 220 85 34 25 100 2 2 1.6 1.8
200 270 135 84 50 100 2 2 1.9 2.1
300 370 235 184 50 200 3 2 2.5 2.7
400 470 335 284 50 100 4 4 3.1 3.3
500 570 435 384 50 200 5 8 3.7 3.9
600 670 535 484 50 100 6 6 wA 4.6
A-79




Single Axis Robot

KK86 (Standard)

75
112 4-M2.6x0.45Px6 DP 46 4-M6x1Px12 DP
153 ‘ 2xm-M2.6x0.45Px4 DP 8 2xn-@6.6 THRU,@11x6 DP
Hij f
i d
=) -+ m@ |
% hd T,
» I
® 6 QTL‘TP—I - S i
o R R Al
46 |20
86 0
~
SECTION A-A (m-1]x200
87
23 _ 50
PCD 70 13 ’_>A 18
I gl x =z
JL | 1 So
3 ,f,,i,i,f,i HL, ,7,7,f,,7,,,4;, § 5 VIEW B
+ +
Q‘ ‘T\‘ ” ‘T\‘ ! T’\‘ Liii I o~ &
! "’ L —A s
4-M4x0.7Px8 DP 100 70 S
PCD 60 (n-1)x100
L2
VIEW B X
Rail Length Total Length Maximum Stroke (mm) Mass (kg]
e 1 ) H(mm) n m
L2 mm A1 Block A2 Block A1 Block A2 Block
340 440 210 100 70 3 2 6.5 7.3
440 540 310 200 20 4 3 7.8 8.6
540 640 410 300 70 5 3 9.0 9.8
640 740 510 400 20 6 4 10.3 11.3
740 840 610 500 70 7 4 11.6 12.4
940 1040 810 700 70 9 5 13.0 13.8
KK86 (Light Duty) o
43
112 4-M2.6x0.45Px6 DP 2151 | 2-Méx1Px12 DP
123 ‘ 2xm-M2.6x0.45Px4 DP —8 2xn-@6.6 THRU,@11x6 DP
I I
U W (
© Jan fi 1T
0 hd @
- . |
™| 6 QT“ \‘J ‘;Q o~ 1
i Y R o
46 |20
86 o
~
SECTION A-A
87
23 50
4-M5x0.8Px10 DP 28 35
PCD 70 13 A 15
1t T
I 3 x T
IL ! ] 0| co
2 gm I o R — B s e ey R i VIEW B
o + + ‘ 4+ 1] | Q B
‘ o S iy e
i i — =
4-M4x0.7Px8 DP 100 70 Q
PCD 60 (n-1)x100
VIEW B L2
L1
Rail Length Total Length Maximum Stroke (mm) Mass (kg)
L2mm] 11 Himm) n m
(mm) S1 Block S2 Block S1 Block S2 Block
340 440 246 170 70 3 2 6.3 7.1
440 540 346 270 20 4 3 7.6 8.4
540 640 446 370 70 5 3 8.8 9.6
640 740 546 470 20 6 4 10.1 11.1
740 840 646 570 70 7 4 11.4 12.2
940 1040 846 770 70 9 5 12.8 13.6

A-80



Single Axis Robot

92

A-81

142.6
95
124 4-M3x0.5Px6 DP 50 4-M8x1.25Px15 DP
110
95 ‘ 2xm-M2.6x0.45Px4 DP 8. 2xn-@9 THRU,J14x8.5 DP
l; 1
= ! T o
AT gi
50 25
100 ~
SECTION A-A (m-1)x200
94
4-M5x0.8Px10 DP 21 3;5
PCD 70 15 L
r—/.\ 22
- ‘ = il ’
0T« == Ve 1f w ‘ w r N
N/ i 2 B —IT — — 1 mmi Ir — q j M
U el ' Fl Y - ”I nY - H: - i) D
el @ 1 iy ‘ AN AN -
ﬁ / ? H L»A 150 G E :
VIEW B sl &%
(n-1)x150 ® g
L2
L1
Rail Length Total Length Maximum Stroke (mm) & (mml H (mm) n . Mass (kg)
L2 (mm] L1 (mm) AlBlock  A2Block AlBlock  A2Block
980 1089 828 700 40 90 7 5 20.4 22.1
1080 1189 928 800 15 40 8 6 22.2 23.9
1180 1289 1028 900 65 90 8 6 24.0 25.7
1280 1389 1128 1000 40 40 9 7 25.7 27.4
1380 1489 1228 1100 15 90 10 7 27.5 29.2
157
108
170 4-M3x0.5Px6 DP 50 4-M8x1.25Px45 DP
150 8
2xm-M2.6x0.45Px4 DP 2xn-@11 THRU,17.5x10.5 DP
| 131 | XMECAT ) SN &
ol - — — | T el [ Jell
1? | (=i M _® @ f{% U'QHE 1 (
ﬁ SR e e —‘::fﬁ} -8
S s Tmas | d e TSP
EB RS @ P o [l 9| &
70 30 | o e — — J — — — -, — — — — e Ay
130 ) e 12
SECTION A-A 200 H
8-Méx1Px12 DP (m-1)x200 100
PCD 90 35 35 3.5
29
18 =~
/ 5 —A 16
= \> ; T ’
e — 1. B jliig a
g ! g — 1 F — — i 1 l| fifi 1l il | — . ‘ i 3 ,i,é, M
— ° - + ” + | + ; Q 5
AL - A 1 e i T 0 mE
9 f L-a 150 G &
VIEW E (n-1)x150 N
L2
L1
Rail Length Total Length Maximum Stroke (mm) & (mm) H Imml n . Mass (kg)
L2 (mm] L1(mm)  A1Block  A2Block Al1Block  A2Block
980 1098 811 659 40 90 7 5 31.9 359
1180 1298 1011 859 65 90 8 6 37.1 41.1
1380 1498 1211 1059 90 90 9 7 42.2 46.2
1680 1798 1511 1359 90 40 11 9 49.9 53.9



	A-62 (KK Series)
	A-63 (KK Series)
	A-64 (KK Series)
	A-65 (KK Series)
	A-66 (KK Series)
	A-67 (KK Series)
	A-68 (KK Series)
	A-69 (KK Series)
	A-70 (KK Series)
	A-71 (KK Series)
	A-72 (KK Series)
	A-73 (KK Series)
	A-74 (KK Series)
	A-75 (KK Series)
	A-76 (KK Series)
	A-77 (KK Series)
	A-78 (KK Series)
	A-79 (KK Series)
	A-80 (KK Series)
	A-81 (KK Series)

